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JERRH R =X 160, 331, 312
BT X 114, 054, 334
R T (1CT) = 21,310 | #EHI(ICT) 50 m3
Ty -7 iy BEEEEL 5, 000m3A ;
HREI T (ICT) = 426 | HEHI(ICT) 1 m3
Ty -7 iy BEEEEL 5, 000m3A ;
BEARRE AT = 56, 389 | B (FELR) 1 5 m3
2.5mPh 4. OmAT
NS 10 m3
2. 5mATH
AR T (ICT) X 78,679,216 | FEIA (ZEER) B+ (ICT) 24,700 m3
PR (FL82) RS 1 (ICT) 790 m3
(BEAHD)
A 13, 340 m3
b CESE- ERIR Y £5T)
A 14, 630 m3
b CESE- ERIR Y £5T)
T wb AT 50 m3
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A (-2") 28, 000 m3
+ab 850, 000m3 AT ;
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+wp CEHR - ERIRY LET) ;
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REMm T kK E 40 m3
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T AHE R B M £=20 ;

WS TR L BE - 7 h—AiTR - BE T 2 15,802, 184 | ffj9i 1 BE FLk 56 m

18-8-40 (B JF) ;

IR T RERE AN - 3R & 184 m2
HERA TR o RE

T BEAA B 1,982 m
HERA TR o RE

FEHL-HBH L, FED 993 m3
HERA TR o RE

FHIA Ob-27) 1, 100 m3
+1 850, 000m3AKT ;

b 1, 100 m3
0 Cabl- EHIRY £5Te) ;

BEM b e 56 m
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1000 X 1600 ;
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BT = 1 617,940 | REWTHE IR 18
4007 T-25 ;

AR v T 2 1 750, 740 | BUGFT B AR KM 2
500 X 500 X 700 (G)
BUGFTH 18-8-25 (A F) (LM VEZEMIELE ;

BUGFT HAE K 1
500 X 500 X 700 (G)
BUGFTH 18-8-25 (A F) (LM VEZEMIELE ;

BUGFT HAE K 1
500 X 500 X 1000 (G)
BUGFTH 18-8-25 (A F) (LM VEZEMIELE ;

BUGFT HAE K 1
600 X 600 X 1100 (G)
BUGFTH 18-8-40 (FJF) LM VEZEMIELE ;

BUGFT HAE K 1
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BUGFTH 18-8-25 (FJF) (LM VEZEMIELE ;

BUGFT HAE K 1
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18-8-40 (f&4F)  av)) - B e
CEUIEVZARIN 413
UNEEHEAIER - 1T8)
18-8-40 (f&4F)  av)) - B e
KK fE 26
W=300 % HIl@5om ;
W H UG EAS 0.5
HEARM axiE 53 m
BEE R E 2 m
VP ¢ 300 ;
SN AL T =Y 1 1,711, 530
S BLERESE T Y 1 1,711,530 |IoAlE3E 1
HEYE T Y 1 177, 145
EERUE L T = 1 144, 650 | &% R 100
TAT 7 MEREERR EHEERR)E S e m ;
/)Y - NEUE U SR L E 10
IAAEIEY |
TE L T =Y 1 32,495 | EOERR 5
TAT7IV NS
RISy 5
TAT7IV NS
RE% T = 1 602, 293
TEHERKT Y 1 473,293 | LEHEAE KT 1
KB T. N 1 129,000 | A3 % 8 2 By !
R T = 1 160, 331, 312
@R = 1 18, 344, 608




il
W
>
%
I

TH4 | HEE - SMESEBRLHINKGER 2 TX (20 4)5 T

TEHX4y « Tfd - FER B Az W B & #A i il R

BISTIGE: = 1 2,937, 608

HeffrE sy = 1 1,511,608 | Rtz 1 =X

PR B (TICT) 1 =X

YATLIE 2 (ICT) 1 F2V

ICTIE W RS A 2 1 =

JE MR FAT - ERE 1 F2
BGRESGESE (5 L) = 1 1, 426, 000
B (FEEHL) = 1 15, 407, 000
T = 1 178, 675, 920
Bl gy 2 1 54, 174, 000
T =5l = 1 232, 849, 920
— R A 2 1 35, 640, 080
TS 2 1 268, 490, 000




